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var page = Forguncy. Page;

/I pivottabl ecel

var pivottable = page.getCell ("pivottablecell");

/I ready

page. ready(function () {

/] pivottabl ecel

pi vott abl e. bi nd("pi vottabl ed ick", function (e, param {

i f (param dataType === "Data") {
| et nessage = "" + paramrow + ", " + paramcol + "\n"
message += "\n"
for (let i = 0; i < paramcol Headers.length; i++) {
nmessage += param col Headers[i].label + " : " +
param col Headers[i]. header + "\n";
}
message += "\n";
for (let j =0; j < paramrowHeaders.length; j++) {
nmessage += param rowHeaders[j].label + " @ " +
param r owHeader s[j]. header + "\ n";
}
message += "" + param val ue;
al ert (nessage) ;
} else if (param dataType === "Rowlotal ") {
| et nessage = "" + paramrow + "\n";
message += "\n";
for (let j = 0; j < paramrowHeaders.length; j++) {
message += param rowHeaders[j].label + "" + paramrowHeaders[j].header +
"\'n";
}
message += "" + param val ue
al ert (nessage) ;
} else if (paramdataType === "Col Total") {
| et nessage = "" + paramcol + "\n";
message += "\n";
for (let i = 0; i < param col Headers.length; i++) {
message += param col Headers[i].label + "" + param col Headers[i]. header +
"\'n";
}
message += "" + param val ue
al ert (nessage) ;
}
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https://help.grapecity.com.cn/pages/viewpage.action?pageId=56528989
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Scriptjs
page = Forguncy.Page;
pivottable = page.getCell("pi

Elpage.ready(

pivottable.bind{"pi ab ick”, {e, param) {

=]
(param.dataType ); )
message = "EB2 : " + param.row + ", " + param.col + ",

message +=
( i = 8; 1 < param.colHeaders.length; i++) {

no_.on my _m

message += param.colHeaders[i].label + + param.colHeaders[i].header +

= \n";
= @; j < param.rowHeaders.length; j++) {
message += param.rowHeaders[j].label + " : " + param.rowHeaders[j].header +
}
message += "{5: " + param.value;

=== ”F

message +=
( i = 8; < param.rowHeaders.length; j++) {
message += param.rowHeaders[j].label + ": "

1
J

+ param.rowHeaders[j].header + "

message += "{&: + param.value;
alert(message);
1
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message
message +=
( i= 8; < param.colHeaders.length; i++) {
message += param.colHeaders[i].label + ": "
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message += "{5: " + param.value;

+ param.colHeaders[i].header +
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